KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

WELL COMPLETION FORM

September 1999 Form Must Be Typed ORIGINAL

Form ACO-1

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #31881	API No. 15 - 095-01529-00-01 County: Kingman County, Kansas				
Name: McGinness Oil Company of Kansas, Inc.					
Address: 150 N. Main - Suite 1026	C SE NW Sec. 8 Twp. 28 S. R. 8 East West				
City/State/Zip: Wichita, Kansas 67202	3300 feet from S N (circle one) Line of Section				
Purchaser:					
Operator Contact Person: Douglas H. McGinness	Footages Calculated from Nearest Outside Section Corner:				
Phone: (316) 267-6065	(circle one) NE SE (NW) SW				
Contractor: Name: Duke Drilling Co., Inc.	Lease Name: Maloney OWWO Well #: 1				
License: 5929	Field Name: Wildcat				
Wellsite Geologist:	Producing Formation:				
Designate Type of Completion:	Elevation: Ground: 1545 Kelly Bushing: 1553				
New Well Re-Entry Workover	Total Depth: 3866 Plug Back Total Depth:				
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Sex NOR KORNWARDS at 1172 Feet				
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes No				
X Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet				
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from				
Operator:	feet depth tow/sx cmt.				
Well Name:	<u> </u>				
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan OWWO HAR 6 /39/0 (Data must be collected from the Reserve Pit)				
Deepening Re-perfConv. to Enhr./SWD	160				
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls				
Commingled Docket No.	Dewatering method used <u>Hauled off</u>				
Dual Completion Docket No	Location of fluid disposal if hauled offsite:				
Other (SWD or Enhr.?) Docket No	Operator Name:				
09-05-03 09-06-03 9/25/2004	Lease Name: License No.:				
Spud Date or Date Reached TD Completion Date or	Quarter Sec. Twp. S. R. East West				
Recompletion Date Recompletion Date	County: Docket No.:				
•					
Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of the spud date.	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. I2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING. Submit CP-111 form with all temporarily abandoned wells.				
all requirements of the statutes, rules and regulations promulgated to regular erein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements				
ignature: Hangloop WMCMinuse	KCC Office Use ONLY				
itle: CEO Date: 11/9/2004	Letter of Confidentiality Attached				
subscribed and sworn to before me this 9th day of November					
	Wireline Log Received Geologist Report Received UIC Distribution WCC WICHITA				
EX 2004 A MAG May MINA	Geologist Report Received NOV 1 0 2001				
lotary Public: AMOS IT COYD/WC	UIC Distribution KCC IA				
pate Commission Expires: February 7, 2008	INA (MAY MURRAY)				
Nota	A RADIE * Polate of Yausaa				
My Appt. Ex	pires // // X				

Operator Name: 📗	21/11/	Company of KS	Tease Nan		ey "OWWO"	Well #:		
ec. 8 Twp	28 S. R. 8	East West	County:	Kingman	County, Kar	ısas		
ested, time tool ope emperature, fluid re	n and closed, flowing covery, and flow rates	and base of formations g and shut-in pressures s if gas to surface test, inal geological well site	s, whether shut in , along with final (pressure reach	ed static level, hydi	rostatic pressure	es, bottom hole	
rill Stem Tests Take		☐ Yes XNo		Log Form	ation (Top), Depth	and Datum	Sample	
amples Sent to Ge	ological Survey	☐ Yes 🏻 No	1	lame		Тор	Datum	
ores Taken lectric Log Run (Submit Copy)		☐ Yes ☐ No ☐ Yes ☐ No			· ·	:		
st All E. Logs Run:	CBL, Neutro	n Log				1.		
		CASING Report all strings set	7	New Used	uction, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacjs Used	Type and Percent Additives	
Surface		8-5/8"		1172'				
Production	7-7/8"	4-1/2"	10.5#	3821'	65/35 ASC	350 150		
		ADDITIONA	L CEMENTING /	SQUEEZE RECO				
Purpose: Perforate Protect Casing	Depth Top Bottom	Type of Cement	#Sacks Used	s Used Type and I		Percent Additives	· · · · · · · · · · · · · · · · · · ·	
Plug Back TD Plug Off Zone								
Shots Per Foot	PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated				Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth			
2	3657.5–3662.5				MA, 15% HC			
2	3141–3146							
2	3131.5=3136.5			750 gall	750 gallons 1 1/2% ascetic acid			
UBING RECORD	Size	Set At	Packer At	Liner Run	Yes No			
ate of First, Resumerd	Production, SWD or Enl	hr. Producing Me	thod	ving Pum	ping Gas Lif	t Other	(Explain)	
stimated Production Per 24 Hours	Oil Bi	bls. Gas	Mcf W	ater /	Bbls. G	as-Oil Ratio	Gravity	

ALLIED CEMENTING CO., INC.

'∻P.O. BÖX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID# 48-0727860

INVOICE

Invoice Number: 090969

Invoice Date: 09/16/03

Sold McGinness Oil Co. 150 N. Main, #1026 To:

Wichita, KS

67202

Cust I.D.... McGin

P.O. Number. .: Maloney #1

P.O. Date...: 09/16/03

Due Date.: 10/16/03 Terms...: Net 30

The T. D. /Deep Oter Head	Unit Price	Not TX
Item I.D./Desc. Qty. Used	- Ulife Fille	gradus garantanin inte
ASC 150.00	SKS 9.0000	1350.00 T
ALW 350.00	SKS 6.7000	2345.00 T
KolSeal 750.00	LBS 0.5000	375.00 T
ASF 500.00	GAL 1.0000	500.00 T
FloSeal 88.00	LBS 1.4000	123.20 T
Handling 566.00	SKS 1.1500	650.90 E 905.60 E
Mileage (32) 32.00	MILE 28.3000	903.00 E
566 sks @\$.05 per sk per mi	JOB 1130.0000	1130.00 E
Long String 1.00 Mileage pmp trk 32.00	MILE 3.5000	112.00 E
Mileage pmp trk 32.00 Rubber plug 1.00	EACH 48.0000	48.00 T
Guide Shoe 1.00	EACH 125.0000	125.00 T
AFU Insert 1.00	EACH 210.0000	210.00 T
Basket 2.00	EACH 116.0000	232.00 T
Centralizers 8.00	EACH 45.0000	360.00 T
All Prices Are Net, Payable 30 Days Follow		8466.70
Date of Invoice. 1 1/2% Charged Thereafter		385.43
If Account CURRENT take Discount of \$846.		0.00
ONLY if paid within 30 days from Invoice D	Date Total:	8852.13

RECEIVED NOV 1 0 2004 KCC WICHITA

ALLIEL CEMENTING C.J., INC. 12944

SERVICE POINT: REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 Medicine L.D.G ON LOCATION DATE 9-6-0 LEASE Malones WELL## LOCATION 544 Zenda (i'ncoman OR NEW Circle one) WINTO OWNER Mc Ginness Dil Co CONTRACTOR DUKE TYPE OF JOB Jone 577. **CEMENT** HOLE SIZE 773 AMOUNT ORDERED 350 sx 65:35:6+1/4
#F/0-Sec/ 1505x ASC+5#/6/-Sec/ CASING SIZE U 1/2 DEPTH 3833 **TUBING SIZE** DEPTH DRILL PIPE 41/2 500 gals ASF MINIMUM 150952 COMMON 150 ASC @ 9.00 1350.00 PRES. MAX MEAS. LINE SHOE JOINT 44,40 **POZMIX** CEMENT LEFT IN CSG 44.40 FT **GEL** CHLORIDE DISPLACEMENT Fresh ALW 350 @ 6.70 2345.00 Kol Seal 750 @ 150 375.0D **EQUIPMENT** ASF-500 gl. @ 1.00 500,00 F10 Seal - 88 @ 1.40 123,20 **PUMP TRUCK** CEMENTER Occid Wi #302 HELPER Unglace W. 650,90 560 HANDLING @ /./5 **BULK TRUCK** MILEAGE _ 32 & 566 x. 05 359 DRIVER RECEIVED BULK TRUCK TOTAL 6249.76 DRIVER ODD T NOV 1 0 2004 KCC WICHITA **REMARKS: SERVICE** on Bottom Brak Circ forp DEPTH OF JOB (3833 12BB/S AST Play Ret & Mouse W/ PUMPTRUCK CHA 25ex 65:35:6+1/4#16-50 Pomp325 EXTRA FOOTAGE PUMP TRUCK CHARGE 51 (05:25:6+1/4#/0-5a) Pump 150 MILEAGE SY ASC + 5# KO/-Scal Shut Down Plug Ru @ 3,50 PLUG RUBBON @ 48,00 48.00 Wash Pompalines, Olsphie WIFTESH Wash of Rig Down, @ TOTAL 1290.00 CHARGE TO: MC G. MCSS D:/ CO. STREET_ FLOAT EQUIPMENT CITY_ Shoe @125.00 125.00 @210,00 210,00 Insent @ 116.00 232.00 entralizers @45.00 <u>360.00</u> To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment TOTAL 927.00 and furnish cementer and helper to assist owner or A American contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND TOTAL CHARGE CONDITIONS" listed on the reverse side. (600 900 B DISCOUNT -PRINTED NAME

ANY APPLICABLE TAX
WILL BE CHARGED
UPON INVOICING